ACCESSORY BOX (J400 ELECTRICAL)

CXA-564

Controlled copy - Distribution and reproduction prohibited
1/2




ACCESSORY BOX (J400 ELECTRICAL) CXA-564

[tem [Code Description QT. ltem [Code [Description [aT. |
00 | 1239482 |Accessory box (J400 Electrical) 1
01| 1239375 |Extension —J400 1
02 | 1239377 |Conenction cable harness - J400 1
03 | 1239495 |Control panel — J400 1
04 | 982248 |Power supply cable harness - IlI 1
05 65177 |Computer protection cover 1
06 | 829374 [Hex bolt- M8 x 20 x 1.25-CL.8.8 1
07 | 519736 |Locking washer - @8 1
08 | 810770 |Hexnut-M8x1.25 1
09 [ 1239474 |Connector fastening plate 1
10 | 934273 |Bolt- M4 x 15x0.7 6
11| 1182671 |Self-Lock nut- M4 X 0.7 6

Controlled copy - Distribution and reproduction prohibited
2/2




